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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,224 86,074 41,057 45017
RIRET1T 6 15 9 6
RIRET2T 28 57 28 29
AIEET3T 183 586 283 303
RIRET4T 405 970 481 489
B 622 1,628 801 827
REH 2,714 6,072 2,818 3,254
L&A 4,328 9,403 4,379 5,024
BE 2,639 5,847 2,831 3,016
B AN 1,306 2,836 1,332 1,504
BERT 1,388 1,957 959 998
BER2T 829 1,429 696 733
BERST 677 1,608 771 837
B 2,894 4,994 2,426 2,568
BEXRE 277 645 312 333
= 2,199 4915 2,343 2,572
hERE 645 1,428 661 767
e 2,474 5,054 2,442 2,612
25 L ET 2,343 5,069 2,430 2,639
B &AL BT 77 154 64 90
HEFILET1T 560 1,201 560 641
HEFILET2T 611 1,271 602 669
HEZFILAT3T 663 1,505 741 764
g 1,911 4,131 1,967 2,164
B & it B Fr ET 684 1,543 743 800
BHEREBET1T 580 1,156 563 593
BHERERET2T 759 1,717 830 887
BHERERETST 789 1,596 724 872
BHERERET4T 513 938 442 496
HEKERETST 830 1,673 799 874
HEERET6T 874 1,885 914 971
BHERERET7T 895 1,869 932 937
HERERETST 70 205 101 104
£t| 5310 11,039 5,305 5,734
HEF R FET 2,014 4,134 2,011 2,123
S|EFET1T 629 1,569 781 788
S|EFET2T 774 1,748 818 930
S|EFET3 T 737 1,375 632 743
g 2,140 4,692 2,231 2,461
ERE1T 587 1,320 634 686
EIRET2T 390 1,038 515 523
EREIST 519 1,334 650 684
EIRETAT 690 1,449 644 805
EIZEIST 517 1,097 549 548
g 2,703 6,238 2,992 3,246
ME A 2914 6,210 2,942 3,268
J\THET1T 33 34 13 21
J\THET2T 24 55 28 27
J\THEI3T 50 107 50 57
B 107 196 91 105
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